299 MEE2USBAYE S3I|WAA MEIET BOM B
SasY9 2 LYOIHYWOIL VA H R (W 123,277,0002)) LIFMIZ 8!
4S9y 43 QEUSWOILATHTFAIMAL A (W 56,218,44091)

AU | 20184 128 28
AZUHEA | 20184 122 28
E32J|8t 20194 128 22U
NEEIRZE | 20184 128 282 ~ 201941 6 23

719 o] ANAEEAE ASTIT |25 RETZRY 21?’3&@%)
20199 69 244
F & WA FETF FH2 70
R
LB

MESEAIE A




—_

| P ooy e e

40

Np 1o

=9 J|ld SAME
T A Y o AEMAELBAIE SEOIAE NHEIEI 20N =Y
2| X NSA-EAESRAIL(26044)
HoZ2H US UAO|MAHO|NA A MR (W 123,277,0008) SILHZE
e Wl 20184 128 282
242 EHEY 20184 128 28Y
JIHET WY 2019 68 21
I 2 H 20198 68 242 B 50%(AEHHII EOA HLHR)
I B2 3Y : 23 QAUKUOIAUDHEAIMAIMR (W 56,218,4408)
R AMNE IN4d33U4dA
2010 AlS0 UHAH SR 2N SAHAN L DAHAHO T2t II-EASS
01501 Qrot SO AIBMO| 2501 GHADF LA E Ale Al BHA £= WASE A
A23tD 0101 JISBAIRES MBS 2AEH0f =AID| HHILICH

757 [Rbnrrwt 7 o]

’
N, -

o

2019 ¥ 63 24¥

= o NSEUWA 727 ZUR 70T2E)
Y s

CH H Xt

i
HO
Jm
g
=
021
|
el




+ 2 A % F A I = =2 3 9 + 4 3 A H 2
T & 9 W 123,277,000 W 56,218,440 | W 56,218,440
3 g 7t A 112,070,000 51,107,673 51,107,673
R Y S| 11,207,000 5,110,767 5,110,767
E o 9 123,277,000 56,218,440 56,218,440

MEE2ES-HAY 26704 MEjEI B0 Y

e

|

0z

[

2

FH




ozt
k>
[im
o
Jat
B
>
g |
08!
N
Hr
(=]
2
P
0%
00
1 |

112,070,273 56,218,440
ES 4 112,070,273 51,107,673 51,107,673
EIL7HR M 11,207,027 5,110,767 5,110,767
E 2o 123,277,000 56,218,440 56,218,440




71 ‘8 W

M(1=)

1. el 40,799,900 20,399,950 20,399,950
HEfTI B0 By 1 4 40,799,900 50% 20,399,950 | 50% 20,399,950 | Y 1zE
1-2. E@FEY| 9,254,525 0 (]
HEjE7t 20 FY 2HE Xt23|o| 2FA| 1 4 4,500,000 0% 0| 0% 0| &E2sE
B Qlafy 1 4 4,754,525 0% 0 0% 0| <=E3z=E
1-3. A AY| [ZFelzH] x 110%] 44,879,890 22,439,945 22,439,945
1-4. 7|22 [EFAAH+HZH() x 20% 17,135,958 8,267,778 8,267,778

Ell lIl l I



HEjEII EaM =

3,338,588

0.0 0.0% 7,752,580 0 7,752,580

E272x 4.0 33.3% 5,905,196 7,865,721 5,905,196
8.0 33.3% 4,786,694 12,751,753 4,786,694
8.0 33.3% 4,237,398 11,288,428 4,237,398
8.0

3,338,588




¥ g 2 A

(S

T = XU MAZT mﬁﬁm_m—.ﬁ@

7| Ar 352,390
EZJ|&R 268,418
k=P8, 217,577
=71 192,609
E=27|1=Xt 151,754

X 7|E=C7}: 2017

H AX|IL OIS 7IExt =T (S=AXLOE Hel e

HEZAZ NS E(=IISUSA S

ol A 372001%)

B A= NH2EE : XFE| (B9 8)

7 £ B _ dHYREE) | AgENeA) H2us £239%
AE|EILE AN XH2H| 150,000 0.25 i 10 12 4,500,000
X XH23|0| 24|17t O 4F EAMA| H2(150,0008), T2 M7 s] oF

B ME N3EE: Ml

+ 2 i 9 o = H 2

HEX|(HAX] 12,1508) (12,15094*(4+2.5))*2F = 175,500 114,675
QOkE T1A 2005 CH7} (6890+(140%15))*100 899,000

H 1A 4008 Ch7} (6890+(140%35))*250 2,947,500
CD-ROM H|Zt ok ol AFE 1A 5000 * 10,000 500,000
eV 4,461,175







1. HE|RME NEE HE U =23 FHE

304 ojet 17 5

304 of4 3 1




mm__@u*m.r»._ m_rm

U__

_m__ tm.u_

3 #.u.., 1
A iz N 1 g 5 1
(42 @ MEHEI mDN ) = » TP YeARM R = : :
=2 33 1 =3 5 1
Cl 3 1 3 3 1
gy ] 10 1 = 3 1
(1= S #M, HHUL, 2R = 4 EETR A 23 =
2 e ZM HOA HERAE)| 5= 10 1 == 5 1
=2 10 1 =2 5 1
2 mEy L A 1 Y 3 .
- =
(EAAI7], 818, 5% B7} 9 7| 4 o Vs sepmope s s 23 3 1
=3 £4 §) = 10 1 =3 3 1
=2 10 1 =2 3 1
3. EFA AL E AR, =25, = Uo|E)

“HEAEE 7R

0.8

=¥3 HIE 0.8
HEHE7 HY o= 0.8
T HE 2¥8As 03

4 A wo_& zf».g_m ww 3%, Su__@




